Monday 01.06.2020
Fluent in Five
1. 2,818 + 1,097 = 
2. 2,000 - 897 =
3. 9 x 5 x 4 =
4. 12 x ___ = 144
5.  of 54 = 
Times Table Rockstars
Spend 10 minutes on TT Rockstars (ON SOUNDCHECK PLEASE!)
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Which calculation is the odd one out?
Explain how you know.

72+12=6 12 x12 = 144
10x8+1x8=88 33:3=12




image7.png
Which calculation is the odd one out?
Explain how you know.

72+12=6 12 x12 = 144
10x8+1x8=88 33:3=12




image1.png
3) Complete these calculations.

Tx12=___ 1Mx5=_
84=12x __x11-=88
__+9-12 121+ =11
11-132+___ 9-___+11
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1) Complete the sentences and calculation to
match the picture.

I

4lotsof 10beads =
4lotsof 2beads=
4lotsof 12beads =
4x10+4x2=4x12=
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a) An alien spaceship has crash-landed
on earth. Inside, there were aliens from
Venus and Jupiter.

The aliens from Venus had 12 eyes; the
aliens from Jupiter had 11 eyes.
There were 104 eyes in the spaceship.

Use your knowledge of the 11 and 12
times table to work out how many aliens there

were from each planet.

b) Explain how you solved this problem.
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2) Complete the table.

2 lots of 10 =
2 lots of 2 =
2 lots of 12 =

6x10+6x1=6x11





